) ot /- 4

Racing Screers

- HANDPROTECTORS FOR -

HONDA CB500 F #46

O ALLEN M\ pHiLLIPS
©
&
N° 3
N° 4 N° 14
(]
\J
>
1 person 35 min P
DESCRIPTION QTY.
; [ .
é ight handguard 1
N ;/
C @6.5 right handlebar anchoring part
2 Q\\B (supplied mounted with handguard) 1
&0
3 \M | \ Left handguard 1
L
@6.5 left handlebar anchoring part
4 @ (supplied mounted with handguard) 1
5 \ - Right metal support (R) 1
6 < 7 Left metal support (L) 1
7 ‘fff{f«(«(«««(««««(«@ M6x55 DIN 7991 Allen screw 2
@) M5x10 @11 1SO 7380 Allen screw 8
@ M5x1 Nylon washer 8
@4,5x@D11,5x2mm Rubber washer
10 (supplied mounted with handguard) 4
11 © @4,5x@14x4mm Rubber washer 4
- M5 Special nut
12 (supplied already mounted) 4
13 0 @30x06,5x1mm Rubber washer 2
14 @ @30 x @6 plastic washer 2
15 ) M5 1SO 7380 Allen screw cap 8
16 0 M6 DIN7991 Allen screw cap 2
17 \/ \_/ Stikers set 1

Pg. 1/4


https://www.motorcycleid.com/puig/

) ot /- 4

Racing Screers

- HANDPROTECTORS FOR -

HONDA CB500 F #1654

- MOUNTING INSTRUCTIONS -

RIGHT SIDE DISASSEMBLY RIGHT SIDE ASSEMBLY

RIGHT SIDE ASSEMBLY RIGHT SIDE ASSEMBLY

Adjust handguard position

Pg. 2/4



) ot /- 4

Racing Screers

- HANDPROTECTORS FOR -
HONDA CB500 F #4655

- MOUNTING INSTRUCTIONS -

RIGHT SIDE ASSEMBLY




) ot /- 4

Racing Screers

- HANDPROTECTORS FOR -

HONDA CB500 F #4655

- MOUNTING INSTRUCTIONS -

LEFT SIDE ASSEMBLY

LEFT SIDE ASSEMBLY

If you're looking for quality motorcycle windshields & fairings, visit our website.


https://www.motorcycleid.com/windshields-fairings.html



